@ HAtH

B |

NPOZAHEETLERE H305
(RITERE BER XEB &)
#17H:2022%10A28R
A% 0479—-74—-8733

LThH, KRS 3
¥ 7.
b E RS,
BHTENVD E9,

—ZnHe—Ue)

EGHIEDTINT—IF1 205 RAE!

FM4ELO0A»L, BBIEZ AT 2 HERH
AEER T, ERE OBEIE FORER

Frv 7 BfT>TwET,
Fhist R % B
BMEORBREHEEENECU LIcReE

3. EEEOHIRIC, TAra—k
frocesEwBLaInELE, 7
Barpoic—BFo7Tra— A BB RAL. BH
HEIOGEEL, HEOSIME - HE SR I Lo L 4
HITEBPITA B XS

Ak = === 5 A ay A
s pge)
Pl

R~ --JJQ
SRS ES

o o g L

" [ :j
SR LN

ot

ST

§  EEE (B) of~os ik
KB 2 B8 D XEICEEY 55
‘M@ BB UL % B T 5 A ORELR
CF 2eme Lo, Ay 8
o BN EREEFAF ~ot—)
BIRTHE] 2RI ¥ L7,

e SRS
7 mme, o O\ A4 Ptk BEIEY
L PTEE~T ) —exEHAT S HE. ELA
T T THIE» T ZFBY (BHick 3
EETAREATNAV) b k5
FEEXH-TWES,
ATHEIR, REESD M EER LT,
EiER R 2 — KH

X3 HEloMEHRIZ., UTotshct,
WHEERIET S - 7icid, [ETHAERAE| 2%
ﬁ:‘z‘f: Lij—o

Qll 7P 16E : ABRHETMEENLSEES) |

TRH160, KEMERLHEME LT EEGELL b5
o | 27—~ ICHNEHHERITVWE Lz, &3BCh 2L
ThH77—TREDBESL ZH%E ZOOM TRY, %<0
BEXSML £ L7,

EEDH 2 F~DHEDE W, HAHESL T DR
T wmukyr— e xFofA L BEb b, EEE (B

ik & ZigE b)) icowc, MI3RMIichZ0HEL £ L
770

—ANDE YV DLICER hBEOBELLCOHE LR
Bafilzicdaalnd s,

)Fig 3 3 g

N N N nn{\lq %k % % ok A***‘kx**x*
naa(sm 6.58M) | J J J { ZpRmR 6 5EE 3 |2 %%
| B %J S8R
] | 8|75
[IEEE () BUADHEE 5~ 2 BEE (9) DB = |E2%
HNEERBUSIIFR 88 HEIK HRPOSIBSHESRE B 8IS ] %% °
EEEROE®] = AL S~ OB R 6 |25
- BRTOEFR AR M OH A RSBV~ SR ZRIE 5 i 3
THRAIL = O & 58 %
EE RO RERROBR S
BRPDEEREL Y — = o
KB == [R— AL T — 2 285
M8 O ErER |

HRZOSEBZETVY-K K@

—
=8




@gzﬁrﬁmb i 5b%b7zl~=r-1vyu—

BRY

B CToBPILDP—TIR
EYIXE.BDD
W BEPILDP—TIRE
S RBSTY —y3a—
REFFrvF I1HBEVL—2
B $RZ5=K
. ERTI)

Iye:- DY

W - RS A —a—

"BELH R

B T5BPILOP—IR
AT TRENOCDEDR] (FS51T)

W BEPILDP—IRE
ARIEBIE]

B HBZESH=IH

=ERERIERR. B89, e R —

EDHDK B T
BT EPLOP—-IR
FUSESBEBRSTT) L7

B BEPILOP—IR
FIRBESDHY T, B55091

=5

B FER
FEUSIESBRST1)
BILEINE 3
= TR T $ % 7 @ T
BT RS T ERESE A I S R R I i I I ¢ 6 7:1’1 7z o =
— Ehes LJV,_JJI ' 7L » A HEHF o
_ . 7 w o 3 ox o+
LT, StF R | &) e Al g
BRI H B T L £ EPN
sUr, Z ;F”%;Zﬁ’ﬁ
BhESy e 7 " ien
2 '-J;‘,Jm WLEALESE Y ] 7o R b D
" h o> T 7- b‘bé’(*b\oéft\ T A
ERULET, £5 TY, £5F &3 = 2 T T oy
(6H1BAH) XLALKEBEY (8818 %) LLEHBEL L Z - 'C,g—i’i)‘ﬁ:ﬁ
Vi L E T, s Ok S0 L
5 ° = 5 M oA
Bk BT (B#EM - XES) RE BT (KER) T H 3 p A v
L 80 X &




